TEHA 2023/10/20

REX

HAXEIRITRYIL

AIN—TJLIN)—X

B an fl A R

% 20084F 4A
2013% 3A HEHIE

MERICERBAAMLNVRLSENET, SR AARAR X LS
DEERRICEKYBELAREREHYFET, TOT T RS,
EEHOIHEDRLZ, ZRFYDOREXEEEFMASBEVEDLETIL,

=P
RCO0 A{KER
RC90 E—%%&"
RC90 F+7&R

RCOO0 SZHER
RC130 A&{KER
RC130 E—%%}
RC130 F17&0
RC130 ZHaER
RC180-6B #A{&ER
RC180:6B E—%&8
. RC180-6B F+758

. RC180-6B Z1F&k
. §aKY O

[450001]
RC90

]

NN

—
e w

—_— ety
W N =

[450015]
RC80/6B




2023/10/20

B#H

1. R/3—/7JL RC90
AT




1. R/N\—4 )L RC90 EHA 2023/10/20
A
ARIKED

NE| BRES B @M 4 WE| SEEE =
1 C119 [{BYE 2 1,390 ISR T
2 C106 [EY/N\UKRILARR 1 4510 HiaRT
3 C136 [|:EY/\>FIL (RCOOMA) 1 1,850 iR T
4 NATUTERILE (M8 x 25) 1 150

5 CHz L &hERm (EHA 15) 2 150

6 Z06A |E4%% (6002UU) 2 860

7 C105 |[EY/N\TF)LEH 1 3,470

8 NATUFEIZUTURILE (M5 X 25) 4 290

9 C150 |#AIL—IL B(XK) (NOK AE2651A) 1 1,970

10 C151 |AAILI—IL AUN) (NOK AE2643A) 1 1,970

11 C152 |¥¥vh/\— 1 27,720 g T
12 ANATUTEIESHARL (#% M6 x 18) 1 150

13 C166 |¥V¥H—X 1 40,430 iR T
14 C141 |/R—JL/N LD (RC90FH R1/4) 1 5,440 avy B
15 NATUTEIEDHRL (KIXH5E M8%x10) | 4 150

16 C109 |B—S#E(R) 2 590 BT
17 C311 |A—3(X) 4 280

18 NATUTERILE (M6 x 30) 4 150

19 NATYE (M8) 4 150

20 ANATTELESHRL (#55 M8 x 25) 2 150

21 C104 |BbFE 1 6,470 iR T
22 C107 [RSAFK#R 2 770

23 ZYES (2x15) 1 150

24 Eftz 1L & (6) 4 150

25 C312 |A—5 @) 4 260 HiaRT
26 C314 |o—># (%) 4 980 HiaRT
27 C310 |RkvTF /T 1 1,280

28 C128 [l (WR10-15) 1 360

29 FEE (8) 1 150

30 ANATUTEIEHRL (#5E M8 x 22) 2 150

31 C108 [#RZ iR 2 590 iR T
32 C318 |Twia 6 160 HiaRT
33

34

35

36

37

38

39

40




2023/10/20

B#H

2. R/\—7)L RC90

E—43E0




2. R/\—4JL RC90 EHE  2023/10/20
E—42Ef

HE|BeEs & £ HE| ZEHM e
1 C166 |¥¥H¥—X 1 40430 | AT
2 C154 |R7YLyg (6000VV) 1 1,970
3 C169 |27 HAK 1 1,280 | T
4 C168 |7YXFa7 (100V) 1 27720 | AT
5 RAZVE R (D5 X 65) 2 290
6 C170 |RT—% (100V) 1 9,010 | ##KET
7 C171 |V—FlEH 2 630 | HIRIET
8 Cl172 |R7YLY (608VV) 1 1140 | HEKRT
9 C167 [RN7yrgovy 2 150
10 2A16 |9 TRTFvh— 1 470 | HERIRT
11 C174 |h—iRoFvyT 2 820 | {H#RIRT
12 | zCO1 |h—HRrIT5 (24 148) 148 930
13 C175 |h—RokRILE 2 3010 | KT
14 C173 |[/1\HSuy 1 11,320 | ##A#RT
15 NANFELEHRL (M5x8) 2 150
16 TEE (5) 4 150
17 NAFUTERILE (M5 x 30) 4 150
18 C177 |®*—LTL—k 1 IR T
19 2A15 | RERTVH— 1 820 | fH#AIRT
20 AyE L (D4 % 16) 2 150
21 C133 |a—Kimz 1 180 | fH#R#ET
22 7021 |[Aa—FJwia 1 590
23 2021 |ZE#HZEI—IL 1 150 | AT
24 C132 [FEI—I 1 150 | G T
25 C137 |RAvFhI\—RI—IL 2 150
26 INAURAYE LA (D4Xx25) 2 150
27 Cl112 |[RAvFFxF¥vT 1 280
28 C118 |Y—FvhTOTH42 1 6,360
29 +FUTEAIERL (M3X8) 2 150
30 C178 [RAyFH—R 1 3,820 | AT
31 C333 |Fx¥THA4va—F—=A 1= 2,780
32 C134 |2PFhKTSY 1 1,390
33 Cl42 |7OoT494R (RCOOA) 1 7520 | KT
34 C143 |[FoFo4L (RC90HMA) 1 7520 | HEREET
35 NATUTEREZURILE (M6 X 15) 4 150
36 NAFUTERILE (M6 x 45) 1 150
37 | ZC30 [BEF1—T (70mm) 1 380
38
39
40




3. R/8—4 )L RCY0
T EB

B#H

2023/10/20

RE|HRES B @ 4 W= | ZHEE S
1 C153 [REVEIL 1 31,190 AT
2 Z5S32 |0y (S32) 2 210
3 C157 |(RU—T 1 6,700
4 C158 |R7ULY (620522) 2 1,740
5 0C10 |CHIEDHER (7A 52) 1 660
6 C159 |R\)—7J 1 1,970 HIRHR T
7 C160 [RUvTTL—F 2 500 AR T
8 C161 |95vFIL—h (VT ARZRR) 2 290 HAGHRT
9 C163 |Z7A4FILEY 1 8,780 BT
10 C162 [A%2JL(A) 1 700 IR T
11 WJ46 |(mifta (17 %46 % 2) 2 150
12 | C164 |TA4RBURE—R 1 980 HIRHR T
13 | WEF1 |[Z742UFvk (17) 1 3,820
14 | C165 |R7YLY (6001VV) 1 1,080 HAGHRT
15 | C154 |R7YL5 (6000VV) 2 1,970
16 | C182S |[tHUREZF>-F¥tub 148 14,560 MG T
17 | C152 |¥v¥Hh/N— 1 27,720 HEAR T
18 | C166 |¥¥H¥—X 1 40,430 HEGHRT
19




4. R/\—%4 )L RC90 Eids 2023/10,/20
X FEER
<&

RE | BAES B & 4 = | {ZHEEM

1 JNARILE (W5/16 X 55) 4 150

2 Bk (W5/16 % 55) 4 150

3 WIS1 |FES (8x16x1.2) 3 150

4 (o EE (8) 3 150

5 NAERILE (M8 x 60) 2 150

6 C101 [R—Z 1 23,100 | AT
7 C110 |[Z#LtE 1 2,310 HEKRT
8 ATV TEY (4%10) 2 150

9 NATUTERILE (M6 % 8) 3 150

10 | C102 |%# 1 13,860 | {H#EIRT
11 Ci11 |[ZHTE 1 1,970 KT
12 | c103 |5v% 1 7630 | HEERRT
13 NARILE (M8 x 55) 1 150

14 | C139 |B®I—IL (L:275mm) 1 390 | HHEARRT
15 | €209 [/KE/ vk M (RC90-130f) 1 10,170 | BEHAIRT
16 C135 [/SyhZ 90 (RCOOR) 148 8,670 HEART
17

18

19




2023/10/20

B#H

5. R/13—%r)L RC130
Z NN




5. AI\—4 )L RC130 Eibid= 2023/10/20
A
ARIKER
NE| BRES B @M 4 WE| SEEE e

1 C119 [{BYE 2 1,390 ISR T
2 NATUTERILE (M8 x 25) 1 150

3 C307 [|:EY/N\EJLIRR 1 4,980 iR T
4 CR L& (8 17) 2 150

5 Z069 |&% (6003UU) 2 1,620

6 C305 [EY/N\TF)LEE 1 4860 HIaHRT
7 C306 [:EY/\FIL 1 1,390 iR T
8 NATUFEIZUURILE (M6 X 25) 4 290

9 C150 |#AIL—IL B(XK) (NOK AE2651A) 1 1,970
10 C151 |AAILI—IL AUN) (NOK AE2643A) 1 1,970
11 NANGELEHRL (#5%% M6 x 18) 1 150
12 C220 |¥h/\— 1 35,810 BT
13 C225 |¥¥H—XR 1 53,130 iR T
14 C332 |R—L\)LT—=HK (R1/4) 148 5,440 avy Ef
15 NATUTEIEDHRL (KIXHA5E M8%x10) | 4 150
16 C204 |BbFE 1 8,320
17 NATUTERILE (M6 x 30) 4 150
18 NEFYk (M8) 4 150
19 NATUTEIEDHRL (#5E M8 x 25) 2 150
20 C205 |RSAF#R 2 810
21 =% (2% 15) 1 150
22 C311 |A—35(X) 4 280
23 C313 |B—S#(R) 4 620 iR T
24 C210 [IEFHa (RC130MA) 1 360
25 TEE (8) 1 150
26 Eftz 1L &R (6) 4 150
27 C312 |A—5 W)y 4 260 HiaRT
28 C314 |o—># (%) 4 980 HiaRT
29 C310 |ARkyTF /7T 1 1,280
30 ANATUTEIEHRL (#5E M8 x 22) 2 150
31 C309 |#HA#R 2 630 iR T
32 C318 |Twia 6 160 HiaRT
33
34
35
36

37

38

39

40




6. R/\—4)L RC130 FHH 2023,/10,/20
E—43E0




6. R/1\—4JL RC130 Eibid= 2023/10/20
E—42Ef
NE| BRES B @M 4 WE| SEEE e
1 C225 |¥V¥H—X 1 53,130 ISR T
2 C230 |27 HAER 1 1,280 HiaRT
3 1202 |R7YLY (620122) 1 950
4 C372 |R7Yjovy 1 290
5 C229 |7RFa7T (100V) 1 33,500 g T
6 ANEZVE L (D5 % 65) 2 290
7 C154 [R7UYLY5 (6000VV) 1 1,970
8 C167 |R7UY>7ovy 1 150
9 C231 |RAT—%4 (100V) 1 11,320 HiaiR T
10 C232 |)—FIE4 2 590 HEaRRT
11 2A14 [T RTFvHh— 1 590 HERFET
12 | NM17 |h—RoF¥yT 2 820
13 | ZC03 |h—HKRr TS5 (24 148) 148 1,280
14 C235 |A—RURILE 2 1,740
15 C233 |\ 1 12,710
16 avEr Rl (D4 X 16) 2 150
17 C133 |[a—K#z 1 180
18 7021 |A—KJwia 1 590
19 C132 |;FEI—IL 1 150 iR T
20 2021 [ZE#ggT—IL 1 150 HiaRT
21 C208 |H—FvyhTOTH4 (NRAR1100F 13A) 1 13,860
22 C317 |RAyFFxvv7 1 280
23 2A13 | AREKRTYH— 1 930 iR T
24 NATTELESHRL (M5 % 8) 2 150
25 NATUFTETSURILE (M5 X 40) 4 290
26 C236 |+—LTL—k 1 0 HiaRT
27 T+ FTENIERL (M3 % 6) 2 150
28 C237 |RAYFH7—R 1 3,820
29 NAVRAYEVRLCA (D4 x25) 2 150
30 C134 |2PfHKTSY 1 1,390
31 C333 |F¥7HAAYva—F—=HK 1= 2,780
32 C241 |[FoTH4R (RC130MA) 1 7,980
33 C242 |FoFo45L (RC130R) 1 7,980 HiaRT
34 NATUTERZVARILE (M6 X 15) 4 150
35 NATUTERILE (M6 x 55) 1 150
36 ZC30 |BRMEFa—T (70mm) 1 380
37
38
39

S
o




7. R78—4)L RC130
Y EB

B#H

2023/10/20

RE|HRES B @ 4 W= | ZHEE &%
1 C221 |REVEIL 1 35,810 HERIRT
2 75832 (o4 (S32) 2 210
3 C157 [R—2 1 6,700
4 C158 [RF7UL4 (620522) 2 1,740
5 CHz1E iR (% 52) 1 660
6 CHz IO &R (Eh A 25) 1 150
7 C224 |[J74F %YV 1 11,210 AR T
8 C369 |[Jz¥—=x%— (5%5%15) 2 360 HEEHET
9 1202 |RNFPULYG (620122) 1 950
10 C154 |R7YLY (6000VV) 2 1,970
11 WEF1 (D742 U3 vk (17) 1 3,820
12 C365 |Twiw(F) (17X 24 % 2) 3 290 HEEHRT
13 WJ46 |Mif4a (17x 46 %x2) 2 150
14 C160 [RUvTTL—Fk 2 500 BT
15 C161 |95y FIL—k (VT ARZR) 2 290 HEEHRT
16 C367 |tHUKRXY 1 5,900 HERHRT
17 C162 [A&IL(A) 1 700 AR T
18 C226 |Jwi+(B) 1 290 BT
19 C227 |[U—FE=#> 1 15,020 BT
20 C165 [R7ULY5 (6001VV) 2 1,080 HERHET
21 | ©238S [Eh FE=A>-F¥tyb 1% 15,020 HIaRT
22 C220 |F¥VHh/\— 1 35,810 HEART
23 C225 [¥vH—X 1 53,130 HEART




8. A/\—# )L RC130 FEHE  2023/10/20
X FEER

HE| BaES ] & 4 WE | 1ZEHE e
1 ARV (W3/8 % 75) 4 150

2 WZE2 |i§)wbk (W3/8) 4 150

3 TEE (SHFH.10) 3 150

4 [$REE (10) 3 150

5 ARV (M10 x 80) 1 160

6 C201 |R—X 1 32,340 ISR T
7 C315 |ZHLEZE 1 2,550 HiaRT
8 RAT)VUTEY (4%10) 2 150

9 FNAFUTERILE (M6 X 10) 3 150

10 C202 [Z# 1 19,640 HERHET
11 C316 |ZHTE 1 2,200 HiaRT
12 C203 [Zv%y 1 8,440 HERHET
13 ARV (M10 % 70) 2 150

14 C214 (BRI — (L:300mm) 1 440

15 C209 [KILEE/ vk M (RC90-130M) 1 10,170 iR T
16 C322 |[/Xykr#RZ 180 (RC130-180-6BFR) | 14| 11,320 HiGRT
17

18

19




2023/10/20

B#H

9. R/3—%)L RC180-6B
AT




9. R/\—#)L RC180-6B FEHE 2023,/10/20
A
ARIKED
NE| BRES B & & WE| ZEE(E e
1 C119 [{BYE 2 1,390 | AT
2 C307 [EYNUERILARR 1 4980 | HiIAIRT
3 C306 [:EY/\UFIL 1 1,390 | {HEK#ET
4 NATUTERILE (M8 x 25) 1 150
5 CHz L &hERm (BHFR 17) 2 150
6 7069 | (6003UU) 2 1,620 Al AR — LTS
7 C305 |:EY/N\UF)LEH 1 4860 | {HIGIET
8 RAFRFETIZUURILE (M6 X 25) 4 290
9 C150 [F414)IL>—)L B(K) (NOK AE2651A) 1 1,970
10 C151 |AAI)ILI—I)L AUN)  (NOK AE2643A) 1 1,970
11 NANSEILEHRL (5L M6x18) 1 150
12 C350 |¥vh/\— 1 35810 | {H#A#IRT
13 C371 |¥¥H—X 1 55440 | {HIGIET
14 ZF60 |&®F vk (M6) 1 290 | R T
15 (FHER (6) 1 150
16 C352 | ThL/\— 1 1,620 | {H#GET
17 RILED v % (6) 2 150
18 C332 |R—L\)LT7—=HK (R1/4) 148 5,440 avy Be
19 C353 |RSAKI ¥+ 1 13,860 | {H#A#ET
20 ANAFELESHRL KIFH%EM8x10) | 4 150
21 C308 |RSAF#R 2 980 | T
22 C311 |A—35(X) 4 280
23 C304 |EHbLFE 1 9480 | #H#AKRT
24 NATUTERILE (M6 % 30) 4 150
25 NATYE (M8) 4 150
26 ANANUTEIESHRL  (BE%k M8 X 25) 2 150
27 NATUTERILE (M6 X 20) 2 150
28 EYE> (2x15) 1 150
29 C313 |n—S#E(R) 2 620 | H#HERT
30 Eftz 1L &R (6) 4 150
31 C312 |a—35 () 4 260 | T
32 C314 |o—># (%) 4 980 | T
33 HHEk (6) 1 150
34 C379 |lF4a 1 290 | BT
35 EARIMRL (2 M8x38) 1 150
36 C128 |[iEHa (WR10-15) 1 360
37 TEE (8) 1 150
38 C310 [(RkyT /D 1 1,280
39 ANASNTEIESOHRLE (% M8x22) 2 150
40 C309 |[{HZA#R 2 630 | AT
41 C318 |Twia 6 160 | AT




10. R/\—4JL RC180+-6B =#H 2023/10,/20
E—43E}




10. R/N\—4JL RC180+:-6B  =#HH 2023/10/20
E—42Ef
HE| BaES & % WE| SEEE e
1 C371 [F¥H¥—X 1 55,440 IR T
2 C375 |27 HAE 1 1,280 HIGIRT
3 OM30 |RF7UYLY (620222) 1 1,060
4 C372 |R7Yovy 2 290
5 C374 |7XFa7 (100V) 1 40,430 g T
6 ANEZVE L (D5 x 80) 2 290
7 S701 |RF7YLY (6200Z22) 1 640
8 C376 |AT—% (100V) 1 13,290 HEaRRT
9 C377 |U—FIEH 2 630 iR T
10 C378 |\HTos 1 16,170 HIGIRT
» 2A12 [T RFYh— (RC180f) 1 590 g T
2A18 | ITRTYH— (RC6BA) 1 590 BT
12 RATUTEIEHRL (M5 % 8) 2 150
13 RAFFETISUORILE (M6 X 40) 4 290
14 C381 |h—ARokRLAE 2 2,310 iR T
15 | zC02 |h—HRrT5 (24 14#8) 148 1,280
16 | FM17 |h—ARoFvvT 2 1,160
. 2A11 | RERTYH— (RC180M) 1 930
2A17 | RERTYH— (RC6BA) 1 930
18 C382 |Rr—LTL—hk 1 0 HIGIRT
19 avEr L (D4 % 16) 2 150
20 C133 |a—K#@z 1 180 HIGRT
21 7021 |[A—FKJwia 1 590
22 C132 | FEI—IL 1 150 HiaRT
23 2021 | ZE#EB—IL 1 150 HiaRT
24 C317 |RAyFFxyv7 1 280
25 C320 |Y—FvybTOTH4 (NRAR1100) 1 13,860
26 +FrtENERL (M3 x8) 2 150
27 C383 |RAYFH7—XR 1 4,160 iR T
28 NAVERYEV LA (D4 x25) 2 150
29 C333 |F¥THAva—F—=A 1= 2,780
30 C134 |2PfHKTSY 1 1,390
31 C341 |7OoT94R (RC180-6BA) 1 8,320 HiaRT
32 C342 |ZaTso45L (RC180-6BfA) 1 8,320 HiaRT
33 NATUTERFIVRILE (M6 X 15) 4 150
34 NATUTERILE (M6 x 55) 1 150
35 | ZC30 |BUEF1—T (70mm) 1 380
36
37
38
39

40




11. Z\/f—’r)lz RC180-6B ##%HE 2023/10,/20
TV ER




11. R/N\—4JL RC180+-6B =E#H 2023/10/20
Xy Ep

HE| BaES il % B | ZEEM IR T

1 C351 [REVKL 1 38,120

2 | 75832 |0 4 (S32) 2 210

3 C157 |R1J—2J 1 6,700

4 C158 [R7UYLY (620522) 2 1,740

5 CHsIE SR (7%H 52) 1 660

6 CR LS (BhF 25) 1 150

7 C357 |E® (24x33x%2) 2 360 gk T

8 C358 |*4JL(B) 1 840 AR T

9 C359 |Z7AFILE¥¥ (H) 1 19,640 gk T
10 CR L& (EhF 24) 1 150

11 C360 |hyT)V2Y 1 20,790 gk T
12 C361 |ES (20% 33%2) 2 290

13 C162 [AZ)L(A) 2 700 HEGRT
14 C363 |[I7A4F ¥V (L) 1 20,790 HIGIRT
15 CHzIE&hERm (B4 AR 20) 1 150

16 1202 |R7UYLYT (620122) 3 950

17 | WEF1 |[Z7A42UFvb (17) 1 3,820

18 C365 |EE(F) (17x24x2) 1 290 AR T
19 C369 |[JxH—%— (5x5x15) 1 360 HigHR T
20 C366 |tHURE=#> (H) 1 12,710 HEGRT
21 WJ46 |mif4a (17 %46 x2) 2 150

22 C160 |[RUYvTTL—F 2 500 HIGIRT
23 Ci161 |[95vFTL—bk (ST ARZR) 2 290 HigHR T
24 C367 |tEAVRXY 1 5,900 "SR T
25 C368 |TARHBVRE—R 1 1,620 gk T
26 C370 |H—FE=#> 1 12,710 HIGIRT
27 S701 |[R7YLY (620022) 2 640

28 | C384S [tH KREZ#r-F¥ vk 148 15,020 HIGIRT
29 C350 |F¥h/\— 1 35,810 HEGIRT
30 C353 [RSAKT v Tk 1 13,860 HIGIRT
31 C371 |¥¥H—X 1 55,440 HEGRT
32

33

34

35

36

37

38

39

S
o




12. RA/1\—4 )L RC180-6B =#H
X AR

2023/10/20

N

'l ‘B R
_——

e
e
ST

I
1
I
I
& e
LA 2
Loy A Al
/5 -y
! = |
[ |
1) 3 1
1N 2 5, o
B g ey
RE|HARES B £ W= | {ZHEEM £
1 FNARILE (W1/2 x 75) 4 200
2 Sk (W1/2) 4 310
3 EREE (SHFH10) 3 150
4 (FHaEE& (10) 3 150
5 NARILE (M10 x 80) 2 160
6 Cc301 [~R—x 1 36,960 HIGRT
7 C315 [Z#LE=E 1 2,550 HiakT
8 AT)UTEY (4x10) 2 150
9 NATSTERILE (M6 x 10) 4 150 HEERT
10 |_C302 X4 (RC180H/) 1 21,950 HIGRT
C402 |4 (RC6BH) 1 21,950 HGIRT
11 C316 |[ZHT= 1 2,200 HIGRT
19 C303 |5v¥ (RC180A) 1 9,130 HIART
C403 (5 (RC6BH) 1 10,750
13 NARILE (M10 % 70) 1 150
1 C331 |B&EI—IL (RC180A L:310mm) | 1 470 HEERT
C426 |BEI—IL (RC6BFR L:420mm) 1 530 IRk T
15 C321 |KALEE/\wbk L (RC180-6BH) 1 10,980 HIERT
16 C322 [/SvkiBZ 180 (RC130-180-6BF) | 148 | 11,320 HISET




13. R/3\—4JL RC90+-130-180-6B FE#HH 2023/10/20
¥aIKF O ER

RE|HRES B @ 4 W= | ZHEE w5
1 C517 |BoHoAlk (12L) 1 — SRR T
2 C510 |[Ry T vIhtuk 148 5670 | AT
3 C507 |RoTxvyTtyk 148 1970 | HHEAKRT
4 C508 |Rv oL —ILiN\wFxD 1 610 AR T
5 C509 |EXkERtyh (26mm) 148 610 | {H#AIRT
6 C513 |RoTI)oatyk 148 3,820 | {H#EHRT
7 C511 [@IEHFRILE YL 148 1,740 | BT
8 C512 [#iEHEBEVE 148 530 | HHRIET
9 C514 |BEBREHBEYL 148 1,160 |  #iG#RT
10 C516 |[r—RE vk 148 8,090
11 C515 |R—jL/\)LJ 1 3,240
12 ZP02 |(FhOVTL—KHR—R 1 360
13 | zJ19 |BfE/NUF 1 270
14 | C518 [/\UKRtwk 148 1,740 | AR T
15 R—R T 1 — HIEHRT




